
Trigonometry – Common Values 
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1 Calculate the following,

1(a) cos(30°) + sin(60°)

[2 marks]

Answer

1(b) 12 cos 60° − 8 sin 30°

[2 marks]

Answer

1(c) tan 45°

sin 30°
× 10 tan 60°

[2 marks]

Answer

1(d) tan(30°) + sin 60°

[2 marks]

Answer

Turn over for next question

Turn over ►
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2 Calculate the following

2(a) tan 30° + sin 30°

[2 marks]

Answer

2(b) tan 45° + sin 30°

tan(60°)
× cos 45°

[3 marks]

Answer

Turn over ►
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3 𝐴𝐵𝐶 is a  right-angled triangle.

∠𝐵𝐴𝐶 is 30°

𝐴𝐵 = 16 cm

Find the exact value of 𝑥.

Show all your workings.

[2 marks]

Answer

Turn over ►

Not drawn 
accurately

𝐵

𝐴

C

16 cm

𝑥

30°

2
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4 𝐷𝐸𝐹 is a right-angled triangle

𝐷𝐸 = 𝐸𝐹

∠𝐸𝐷𝐹 = 45°

Find the exact value of the length 𝑥

Show all your workings.

[2 marks]

Answer cm

Turn over for next question

Turn over ►

Not drawn 
accurately

𝐹

𝐷

𝐸

𝑥

10 cm

45°

2
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5 𝐴𝐵𝐶 is a right-angled triangle.

∠𝐴𝐵𝐶 is 30°

CB = 12 cm

Find the exact value of 𝑥.

Show all your workings.

[2 marks]

Answer

Turn over ►

Not drawn 
accurately

𝐵

𝐴

C 12 cm

𝑥

30°

2
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6 Below is a parallelogram

𝐴𝐶 = 𝑥

𝐴𝐵 = 𝑥 + 3

The area of the parallelogram is 20 3

Find the value of 𝑥

[4 marks]

Answer

End of Questions

END

Not drawn 
accurately

4

BA

𝑥 + 3 cm

𝑥 cm

C D

60°
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